The group G is isomorphic to the group labelled by [ 32, 12 ] in the Small Groups library.
Ordinary character table of G = C4 : C8:

la 8a da 2a 4b 2b 8b 8c 8d 4c 4d de 2c 4f 8e 8f 8¢g 4g 4h 8h
X1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
X2 1 -1 -1 1 1 1 1 -1 -1 -1 -1 1 1 1 1 1 -1 -1 1 1
X3 1 -1 1 1 1 1 -1 —1 -1 1 1 1 1 1 -1 —1 -1 1 1 -1
X4 1 1 -1 1 1 1 -1 1 1 -1 -1 1 1 1 -1 —1 1 -1 1 -1
Xs | 1 —B@4) -1 1 1 1 E@) E@) —E@4) 1 -1 -1 1 1 “E(4) E@)  E@) 1 1 —E(4)
Xe | 1 B@A) -1 1 1 1 —E@) —E@4) E@) 1 -1 -1 1 1 E(d) —E@) -BE@) 1 1 E(4)
v |1 —B@4) 1 1 -1 1 —E@4) E@) -EB4) -1 1 -1 1 -1 E(4) —E@4) E@) -1 -1 E(4)
s |1 B@ 1 1 1 1 E(4) —E(4) E@4) -1 1 1 1 1 “E(4) E@) —E@4) -1 1 _E(4
xo |1 —FE@® -1 1 E(4) -1 E®) —-E®)?3 E®B —-EH4 1 E(4) -1 —E(4) E@®)® —E@®) E®)?® E@4) —-E(4) -E(@8)?
Xxo| 1 —E@®? -1 1 -E@4) -1 E@8)? -E@8) E®8? B4 1 -B@) -1 E@) E(8) —E®8)?® E@B) -E@4) E@)  —E(@)
xul|l E@B? -1 1 -E4) -1 43(8)3 E(8) —E®?® E@4) 1 -BE@4) -1 E@4) -B@8) E@®)? -E@8 -E@4) E) E(8)
X2 | 1 E® -1 1 E(4) -1 E®) E®)? —-E®B) -E@4) 1 E(4) -1 —E@4) -E@®8)? E® -E®)?® E4) —E(4) E(8)3
xi3| 1 —-E@® 1 1 E(4) -1 E®) —E@B8)? E8) E@4) -1 E(4) -1 —-E@4) -E@®8)?® E@8) E@8)? —E@4) -—E4) E(8)3
xu| 1l —-E@®3 1 1 -B4) -1 E(8)3 —~E@®) E@®)? -EM4) -1 -E#4) -1 E(4) —E®) E®)? E@B) E4) E(4) E(8)
xi5| 1 E®2 1 1 —-E(4) -1 E(@8)3 E®) —E@®)? —-E@4) -1 —-EH4) -1 E(4) E®) —E®8)? —E®B) E4) E(4) —E(8)
x|l ES 1 1 E4 -1 ES) ES8? -E8 B4 -1 E@) -1 -EA4) E®B?® -—E@8) -—-ES? —-BE@) -E4) —E(@8)?
xX17 | 2 0 0 -2 -2 2 0 0 0 0 0 2 —2 -2 0 0 0 0 2 0
Xi8 | 2 0 0 -2 2 2 0 0 0 0 0 —2 —2 2 0 0 0 0 -2 0
x| 2 0 0 -2 —2+B@4) -2 0 0 0 0 0 2xBE@) 2 2x«E4) 0 0 0 0  —2+«E@4) 0
X0 |2 0 0 —2 2+xE@) -2 0 0 0 0 0 —2+BE@4) 2 -2+B4) 0 0 0 0 2+E(4) 0
Trivial source character table of G = C4 : C8 at p = 2:
Normalisers ]\/vz N1 N2 Ng N4 N5 NG N7 Ng Ng N10 N11 N12 N13 N14 N15 N16 N17 ng N19
p—subgroups of G up to conjugacy in G P1 P2 P3 P4 P5 PG P7 Pg Pg P10 P11 P12 P13 P14 P15 P16 P17 P18 P19
Representatives n; € N; la | 1la | 1a | 1a | 1la | 1la | 1la | 1la | la | la la la la la la la la la la
l-xyi+1-x2+1-xa+1-xa+1-xs+1-x¢6+1-x7+1-xs+1-xo+1-x0+1-x11+1-x12+1-x13+1-xa+1-x5+1-x16+2-x17+2-x18+2-xX19+2-X20(32| 0] 0] 0|00 0| 0] O0 0 0 0 0 0 0 0 0 0 0
l-xa+1-xo+1-x3+1-xa+1-x5+1-x¢6+1-x7+1-x8+0-x9+0-Xx10+0-x11+0-x12+0-X13+0-Xx14+0-x15+0-Xx16+2-x17+2-x18+0-X19+0-x20| 16|16 | 0 | 0| 0] 0| 0| 0] O 0 0 0 0 0 0 0 0 0 0
l-xyi+1-x2+1-xa+1-xa+1-xs+1-x¢6+1-x7+1-xs+1-xo+1-x0+1-x11+1-x12+1-x13+1-xa+1-x15+1-x16+0-x17+0-x18+0-x19+0-x20|16| 0 [ 16| 0O [ O | O | O | O] O 0 0 0 0 0 0 0 0 0 0
1-xa+1-xo+1-x3+1-xa+1-x5+1-x¢6+1-x7+1-x8+0-x9+0-Xx10+0-x11+0-x12+0-X13+0-Xx14+0-x15+0-X16+0-x17+0-x18+2-X19+2-x20| 16| 0 | 0O |16 0 | 0| 0| 0] O 0 0 0 0 0 0 0 0 0 0
1-x1+1-x2+1-x3+1-x4a+0-x54+0-x6+0-x7+0-x8+0-x90+0-x10+0-x11+0-Xx12+0-x13+0-x14+0-x15+0-Xx16+0-x17+2-Xx18+0-x19+0-x20| 8 8 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-xa+1-xo+1-x3+1-xa+1-x5+1-x¢6+1-x7+1-x8+0-x9+0-Xx10+0-x11+0-x12+0-X13+0-Xx14+0-x15+0-X16+0-x17+0-x18+0-X190+0-x20| 8 | 8 | 8 | 8| 0| 8|0 |0]0 0 0 0 0 0 0 0 0 0 0
1-x1+1-x2+1-x3+1-x4a+0-x5+0-x6+0-x7+0-x8+0-x90+0-x10+0-x11+0-Xx12+0-x13+0-x14+0-x15+0-Xx16+2-Xx17+0-x18+0-x19+0-x20| 8 8 0 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+1-x3+0-x4+0-x5+0-x6+1-x7+1-x8+0-x90+0-x10+0-x11+0-x12+1-x13+1-xa+1-x15+1-x16+0-x17+0-x18+0-Xx19+0-X20| 8 | 0| 8] 0[O0 |0 | 0| 8]0 0 0 0 0 0 0 0 0 0 0
1-x14+0-x2+1-x3+0-x4+0-x5+0-x6+1-x7+1-xs+1-xo+1-x10+1-x11+1-x12+0-x13+0-x14+0-x15+0-Xx16+0-x17+0-x18+0-Xx190+0-x20| 8 | O | 8 | 0| 0| 0|0 /|O0] 8 0 0 0 0 0 0 0 0 0 0
T-xi+0-xo+1-x3+0-xa+1-x5+1-x6+0-x7+0-xs+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16 +0-x37+0-x18+1-x10+1-x20| 8 | 0| 0 | 8] 0] 0]0]0] 0] 4 0 0 0 0 0 0 0 0 0
1-xi+1-xo+1-x3+1-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-X10+0-x11+0-x12+0-Xx13+0-x14+0-x15+0-X16+0-x17+0-x18+0-X19+0-x20| 4 | 4 | 4| 4| 4] 4| 4|00 0 4 0 0 0 0 0 0 0 0
I-x1+0-x2+1-x3+0-xa+0-x54+0-x6+1-x7+1-Xxs+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-xas +0-Xx10+0-x20 | 4 | 4 | 4] 4]0 4]0 4]4]0 0 4 0 0 0 0 0 0 0
1-x1+0-x2+1-x3+0-xa+1-xs5+1-x6+0-x7+0-x8+0-x90+0-x10+0-x11+0-x12+0-x13+0-x14a+0-x15+0-x16+0-x17+0-x18+0-x19+0-x20| 4 4 4 4 0 4 0 0 0 4 0 0 4 0 0 0 0 0 0
1-x1+0-x24+0-x3+1-xa+0-x54+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11 +0-x12+0-x13+0-x14+0-x15+0-x16 +0-x17+1-xas +0-x19+0-x20| 4 | 4 | O] O ] 4 ]0]0]0]0] O 0 0 0 2 0 0 0 0 0
T-x1+1-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-xs+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16 +0-x17+1-x18+0-Xx10+0-x20| 4 | 4 | 0] 0] 4] 0] 0]0]0] 0 0 0 0 0 2 0 0 0 0
I-x1+0-x2+1-x3+0-xa+0-x54+0-x6+0-x7+0-xs+0-x0+0-x10+0-Xx11+0-x12+0-x134+0-x14+0-x15+0-x16 +0-x17+0-xis +0-x190+0-x20 | 2 | 2 | 2 | 2 | 2 | 2|2 ]| 2] 2] 2 2 2 2 0 0 2 0 0 0
1-x1+0-x2+0-x3+1-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-Xx10+0-x11+0-x12+0-X13+0-Xx14+0-x15+0-X16+0-x17+0-x18+0-Xx19+0-x20 | 2 2 2 2 2 2 2 0 0 0 2 0 0 2 0 0 2 0 0
1-x1+1-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-xs§+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16 +0-x17+0-x18+0-x190+0-x20| 2 | 2 | 2 | 2 | 2 | 2] 2|0 0] 0 2 0 0 0 2 0 0 2 0
1-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-X10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-x190+0-x20 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
P = Grou(O) = 1
= Group([(1,6)(2,10)(3,13)(4, 15)(5, 16)(7, 19)(8, 21)(9, 22) (11, 24) (12, 25)(14, 26) (17, 28) (18, 29)(20, 30) (23, 31)(27, 32)]) == C2
P3 Group([(1,4)(2,8)(3,11)(5,14)(6, 15)(7, 17)(9, 20)(10, 21)(12, 23) (13, 24) (16, 26) (18, 27) (19, 28)(22, 30) (25, 31)(29, 32)]) = C2
Py = Group([(1,15)(2, 21)(3, 24) (4, 6)(5, 26) (7, 28)(8, 10)(9, 30) (11, 13)(12, 31)(14, 16) (17, 19)(18, 32) (20, 22) (23, 25)(27, 29)]) = C2
Ps = Group([(1,6)(2,10)(3,13)(4, 15)(5, 16)(7, 19)(8, 21)(9, 22) (11, 24)(12, 25) (14, 26) (17, 28)(18, 29)(20, 30)(23, 31)(27, 32), (1,5, 6, 16)(2, 9, 10, 22) (3, 12, 13, 25) (4, 14, 15, 26)(7, 8 19,29)(8, 20,21, 30)(11, 23, 24, 31)(17, 27, 28, 32)]) = C4
Py = Group([(1,6)(2,10)(3, 13)(4, 15)(5, 16)(7, 19)(8, 21)(9, 22)(11,24)(12, 25) (14, 26)(17, 28)(18, 29) (20, 30)(23, 31)(27, 32), (1, 4)(2, 8)(3, 11)(5, 14)(6, 15)(7, 17)(9, 20)(10, 21) (12, 23) (13, 24)(16, 26)(18, 27) (19, 28)(22, 30) (25, 31)(29, 32)]) = C2 x C2
P7 = Group([(1,6)(2,10)(3,13)(4, 15)(5, 16)(7, 19)(8, 21)(9, 22) (11, 24) (12, 25)(14, 26) (17, 28) (18, 29)(20, 30) (23, 31)(27, 32), (1, 14, 6, 26) (2, 20, 10, 30) (3, 23, 13, 31) (4, 5, 15, 16)(7, 27, 19, 32)(8, 9, 21, 22) (11, 12, 24, 25)(17, 18, 28, 29)]) = C4
— Group([(1,3,4,11)(2, 7,8, 17)(5, 12, 14, 23)(6, 13, 15, 24)(9, 18, 20, 27)(10, 19, 21, 28) (16, 25, 26, 31)(22, 20, 30, 32), (1, 4)(2, 8)(3, 11)(5, 14)(6, 15)(7, 17)(9, 20)(10, 21)(12, 23)(13, 24)(16, 26)(18, 27)(19, 28)(22, 30) (25, 31)(29, 32)]) = C4
— Group([(1,13,4,24)(2, 19,8, 28)(3, 15, 11, 6)(5, 25, 14, 31)(7, 21, 17, 10)(9, 29, 20, 32) (12, 26, 23, 16)(18, 30, 27, 22). (1, 4)(2. 8)(3, 11)(5, 14)(6, 15)(7, 17)(9, 20)(10, 21 )(12 23)(13, 24)(16, 26) (18, 27)(19, 28)(22, 30) (25, 31)(29, 32)]) = C4
P10 — Group([(1, 12, 15,31)(2, 18, 21, 32)(3, 14, 24, 16)(4, 23, 6. 25) (5, 13,26, 11)(7, 20, 28, 22)(8, 27, 10, 20)(9, 19, 30, 17), (1, 15)(2, 21)(3. 24) (4, 6) (5, 26) (7, 28)(8, 10)(9, 30)(11, 13)(12, 31)(14, 16)(17, 19)(18, 32)(20, 22)(23, 25)(27, 29)]) = C
Pu = Group([(1,6)(2, 10)(3, 13) (4, 15)(5, 16)(7, 19)(8, 21)(9, 22) (11, 24)(12, 25)(14, 26)(17, 28)(18, 29)(20, 30) (23, 31)(27, 32). (1, 4) (2, 8)(3, 11)(5, 14)(6, 15)(7, 17)(9, 20) (10, 21) (12, 23) (13, 24) (16, 26) (18, 27) (19, 28) (22, 30) (25, 31)(29, 32), (1, 5,6, 16)(2, 9, 10, 22)(3, 12, 13, 25) (4, 14, 15, 26)(7, 18, 19, 29)(8, 20, 21,30)(11, 23, 24, 31)(17, 27, 28, 32)]) = C x C2
Pra = Group([(1,6)(2, 10)(3. 13)(4, 15)(5, 16)(7, 19)(8, 21)(9, 22) (11, 24)(12, 25)(14, 26)(17, 28)(18, 29)(20, 30)(23, 31)(27, 32). (1. 3,4, 11)(2, 7, 8, 17)(5, 12, 14,23)(6, 13, 15, 24)(9, 18, 20, 27)(10, 19, 21, 28)(16, 25, 26, 31)(22, 29, 30, 32), (1, 4)(2, 8)(3, 11)(5, 14)(6, 15)(7, 17)(9, 20)(10, 21)(12, 23) (13, 24) (16, 26)(18, 27)(19, 28)(22, 30) (25, 31)(29, 32)]) = C4 x C2
Pis = Group([(1.6)(2, 10)(3, 13)(4, 15)(5, 16)(7, 19)(8, 21)(9, 22) (11, 24) (12, 25) (14, 26)(17, 28) (18, 29)(20, 30) (23, 31)(27, 32). (1,12, 15, 31)(2, 18, 21, 32)(3, 14, 24, 16)(4, 23, 6, 2 )(5 13,26, 11)(7, 20, 28, 22)(8, 27, 10, 29)(9, 19, 30, 17), (1, 4)(2, 8)(3, 11)(5, 14)(6, 15)(7. 17)(9, 20)(10, 21)(12, 23)(13, 24)(16, 26)(18, 27)(19, 28)(22, 30)(25. 31 (29 32)]) ~ (4 x C2
Pus = Group([(1,6)(2, 10)(3, 13)(4, 15)(5, 16)(7, 19)(8, 21)(9, 22) (11, 24) (12, 25) (14, 26) (17, 28) (18, 29)(20, 30) (23, 31)(27.32). (1,2,5,9, 6, 10, 16,22)(3, 17, 12, 27, 13, 28, 25, 32) (4, 8, 14, 20, 15, 21, 26, 30)(7, 23, 18, 24, 19, 31,29, 11), (1, 5, 6, 16)(2, 9, 10, 22)(3, 12, 13. 25)(4, 14, 15, 26) (7, 18, 19, 29)(8, 20, 21, 30) (11, 23. 24, 31)(17, 27, 28, 32)]) =
Pys = Group([(1,6)(2,10)(3, 13)(4, 15)(5, 16)(7, 19)(8, 21)(9, 22) (11, 24) (12, 25) (14, 26) (17, 28) (18, 29)(20, 30)(23, 31)(27, 32), (1, 17, 5, 27, 6, 28, 16, 32)(2, 23,9, 24, 10, 31, 22, 11)(3, 8, 12, 20, 13, 21, 25, 30)(4, 7, 14, 18, 15, 19, 26, 29), (1, 5, 6, 16)(2, 9, 10, 22)(3, 12, 13, 25) (4, 14, 15, 26)(7, 18, 19, 29)(8, 20, 21, 30)(11, 23, 24, 31)(17, 27, 28, 32)]) = 08
Py = Group([(1,6)(2,10)(3, 13)(4, 15)(5, 16)(7, 19)(8, 21)(9, 22) (11, 24) (12, 25) (14, 26)(17, 28) (18, 29)(20, 30)(23, 31)(27, 32), (1, 4)(2, 8)(3, 11)(5, 14) (6, 15)(7, 17)(9 20)(10,21)(12, 23)(13, 24)(16, 26)(18, 27)(19, 28)(22, 30)(25, 31)(29, 32), (1, 5, 6, 16)(2, 9, 10, 22)(3, 12, 13, 25)(4, 14, 15, 26)(7, 18, 19, 20)(8, 20, 21,30)(11, 23, 24, 31)(17, 27, 28, 32), (1,3, 4, 11)(2, 7, 8, 17)(5, 12, 14, 23)(6, 13, 15, 24)(9, 18, 20, 27)(10, 19, 21, 28)(16, 25, 26, 31) (22, 29, 30, 32)]) = C4 x C4
Prr = Group([(1,6)(2,10)(3,13)(4, 15)(5, 16)(7, 19)(8, 21)(9, 22) (11, 24) (12, 25) (14, 26)(17, 28) (18, 29)(20, 30)(23, 31)(27, 32), (1, 4)(2, 8)(3, 11)(5, 14) (6, 15)(7, 17)(9, 20)(10, 21)(12, 23)(13,24)(16,26)(18,27)(19,28)(22,30)(25,31)(29,32),(1,576,16)(2,9,10,22)(3,12,13,25)(4, 14,15,26)(7, 18,19, 29)(8, 20, 21, 30)(11, 23, 24, 31)(17, 27, 28, 32), (1,2, 5,9, 6, 10, 16, 22) (3, 17, 12, 27, 13, 28, 25, 32) (4, 8, 14, 20, 15, 21, 26, 30)(7, 23, 18, 24, 19, 31,29, 11)]) = C8 x C2
Pris = Group([(1,6)(2,10)(3,13)(4, 15)(5, 16)(7, 19)(8, 21)(9, 22) (11, 24) (12, 25) (14, 26) (17, 28)(18, 29) (20, 30)(23, 31)(27, 32), (1,4)(2, 8)(3, 11)(5, 14)(6, 15)(7, 17)(9, 20)(10, 21) (12, 23)(13, 24) (16, 26) (18, 27)(19, 28) (22, 30)(25, 31)(29, 32), (1,5, 6, 16)(2, 9, 10, 22) (3, 12, 13, 25) (4, 14, 15, 26) (7, 18, 19, 29) (8, 20, 21, 30) (11, 23, 24, 31)(17, 27, 28, 32), (1,17, 5, 27,6, 28, 16, 32) (2, 23,9, 24,10, 31,22, 11)(3, 8,12, 20, 13, 21, 25, 30) (4, 7, 14, 18, 15, 19, 26, 29)]) = C8 x C2
Pro = Group([(1,6)(2, 10)(3, 13)(4, 15)(5, 16)(7, 19)(8, 21)(9, 22) (11, 24) (12, 25) (14, 26) (17, 28) (18, 29)(20, 30)(23, 31)(27, 32). (1,4)(2,8)(3, 11)(5, 14)(6, 15)(7, 17)(9, 20) (10, 21) (12, 23) (13, 24) (16, 26) (18, 27) (19, 28) (22, 30) (25, 31)(29.32). (1, 5.6, 16)(2,9. 10, 22)(3, 12, 13, 25) (4. 14, 15, 26)(7, 18, 19, 29)(8, 20, 21,30)(11, 23, 24, 31) (17, 27, 28,32). (1,3, 4, 11)(2,7, 8, 17)(5, 12, 14, 23)(6, 13, 15, 24)(9, 18, 20, 27)(10, 19, 21 28)(16, 25, 26, 31)(22, 29, 30, 32), (1,2, 5,9, 6, 10, 16,22)(3, 17, 12, 27, 13, 28, 25, 32) (4, 8, 14, 20, 15, 21, 26, 30)(7, 23, 18, 24, 19,31, 29, 11)]) = C4 : C8
Ny = Group([(1,2,5,9,6,10,16,22)(3, 17, 12,27, 13,28, 25, 32) (4, 8, 14, 20, 15, 21, 26, 30)(7, 23, 18, 24, 19, 31,29, 11), (1,3, 4, 11)(2, 7, 8, 17)(5, 12, 14, 23)(6, 13, 15, 24)(9, 18, 20, 27)(10, 19, 21, 28) (16, 25, 26, 31)(22, 29, 30, 32), (1, 4)(2, 8)(3, 11)(5, 14)(6, 15)(7, 17)(9, 20)(10, 21)(12, 23)(13, 24) (16, 26)(18, 27) (19, 28)(22, 30)(25, 31)(29, 32), (1,5, 6, 16)(2, 9, 10, 22)(3, 12, 13, 25)(4, 14, 15, 26)(7, 18, 19, 29)(8, 20, 21, 30)(11, 23, 24, 31)(17, 27, 28, 32), (1, 6)(2, 10)(3, 13)(4, 15) (5, 16)(7, 19)(8, 21)(9, 22) (11, 24) (12, 25)(14, 26)(17, 28) (18, 29)(20, 30)(23, 31)(27, 32)]) = C4 : C8
Na = Group([(1,2,5,9,6,10,16,22)(3,17, 12,27, 13,28, 25, 32) (4, 8, 14, 20, 15, 21, 26, 30)(7, 23, 18, 24,19, 31,29, 11), (1, 3,4, 11)(2, 7,8, 17)(5, 12, 14, 23)(6, 13, 15, 24) (9, 18, 20, 27) (10, 19, 21, 28)(16, 25, 26, 31)(22, 29, 30, 32), (1,4)(2, 8)(3, 11)(5, 14)(6, 15)(7, 17)(9, 20)(10, 21)(12, 23)(13, 24) (16, 26) (18, 27)(19, 28) (22, 30)(25, 31)(29, 32), (1,5, 6, 16)(2,9, 10, 22) (3, 12, 13, 25) (4, 14, 15, 26) (7, 18, 19, 29) (8, 20, 21, 30) (11, 23, 24, 31)(17, 27, 28, 32), (1, 6)(2, 10)(3, 13) (4, 15) (5, 16)(7, 19)(8, 21)(9, 22) (11, 24)(12, 25)(14, 26)(17, 28)(18, 29)(20, 30)(23, 31)(27, 32)]) =2 C4 : C8
Ny = Group([(1,2.5,9.6,10. 16,22)(3, 17, 12,27, 13, 28, 25, 32) (4. 8, 14, 20, 15, 21. 26, 30)(7, 23, 18, 24. 19, 31,29, 11), (1,3, 4, 11)(2. 7,8, 17)(5. 12, 14, 23)(6, 13, 15, 24)(9, 18,20, 27)(10, 19, 21, 28)(16, 25. 26, 31)(22, 29. 30, 32). (1,4)(2,8)(3, 11)(5. 14)(6, 15)(7, 17)(9, 20) (10, 21)(12, 23) (13, 24) (16, 26) (18, 27) (19, 28) (22, 30) (25, 31)(29.32). (1,5.6. 16)(2,9. 10, 22)(3. 12, 13, 25) (4, 14, 15, 26)(7, 18, 19, 29)(8, 20, 21, 30)(11, 23, 24, 31) (17, 27. 28, 32). (1.6)(2, 10)(3, 13)(4, 15)(5, 16)(7. 19)(8, 21)(9, 22) (11, 24) (12, 25) (14, 26) (17, 28) (18, 29) (20, 30) (23, 31)(27.32)]) = C4 : 8
Ny = Group([(1,2,5,9,6,10,16,22)(3, 17, 12,27, 13, 28, 25, 32) (4, 8, 14, 20, 15, 21, 26, 30) (7, 23, 18, 24, 19, 31,29, 11), (1, 3,4, 11)(2, 7,8, 17)(5, 12, 14, 23)(6, 13, 15, 24)(9, 18, 20, 27)(10, 19, 21, 28)(16, 25, 26, 31)(22, 29, 30, 32), (1, 4)(2,8)(3, 11)(5, 14) (6, 15)(7, 17)(9, 20) (10, 21)(12, 23) (13, 24) (16, 26) (18, 27) (19, 28)(22, 30) (25, 31)(29, 32), (1, 5, 6, 16)(2, 9, 10, 22)(3, 12, 13, 25) (4, 14, 15, 26)(7, 18, 19, 20)(8, 20, 21, 30) (11, 23, 24, 31)(17, 27, 28, 32), (1, 6) (2, 10)(3, 13)(4, 15)(5, 16)(7, 19)(8, 21)(9, 22)(11, 24)(12, 25)(14, 26)(17, 28) (18, 20)(20, 30)(23, 31)(27,32)]) = C4 : C8
N = Group([(1,5,6,16)(2,9, 10, 22)(3, 12, 13, 25)(4, 14, 15, 26)(7, 18, 19, 20)(8, 20, 21, 30)(11, 23, 24, 31)(17, 27, 28.32). (1, 6)(2, 10)(3, 13)(4, 15)(5, 16)(7, 19)(8, 21)(9,22)(11,24)(12,25)(14,26)(17 28)(18,29)(20, 30)(23, 31)(27.32), (1,2,5,9,6, 10, 16,22)(3, 17, 12, 27, 13, 28, 25, 32)(4, 8, 14, 20, 15, 21, 26, 30) (7, 23, 18, 24, 19, 31,29, 11, (1,3, 4, 11)(2,7, 8, 17)(5, 12, 14, 23)(6, 13, 15, 24)(9, 18, 20, 27)(10, 19, 21, 28) (16, 25, 26, 31) (22, 29, 30, 32)]) = C4 -
N = Group([(1,4)(2,8)(3, 11)(5, 14)(6, 15)(7, 17)(9, 20)(10, 21)(12, 23)(13, 24)(16, 26)(18, 27) (19, 28)(22, 30)(25, 31)(29, 32), (1, 6)(2, 10)(3, 13) (4. 15)(5, 16)(7, 19)(8,21)(9 22)(11,24)(12, 25)(14, 26) (17, 28) (18, 29) (20, 30) (23, 31) (27, 32), (1, 2, 5,9, 6, 10, 16, 22)(3, 17, 12, 27, 13, 28, 25, 32) (4, 8, 14, 20, 15, 21, 26, 30)(7, 23, 18, 24, 19, 31,29, 11, (1, 3,4, 11)(2,7, 8, 17)(5, 12, 14, 23)(6, 13, 15, 24)(9, 18,20, 27)(10, 19, 21, 28)(16, 25, 26, 31)(22, 29, 30, 32)]) = 4 8
N = Group([(1, 14, 6, 26)(2, 20, 10, 30)(3, 23, 13, 31)(4, 5, 15, 16)(7, 27, 19, 32)(8,9, 21, 22)(11, 12, 24, 25)(17, 18, 28, 29), (1, 6)(2, 10)(3, 13)(4, 15)(5, 16)(7, 19)(8, 21)(9, 22)(11, 24) (12, 25) (14, 26)(17, 28) (18, 20)(20, 30)(23, 31)(27, 32), (1, 2, 5,9, 6, 10, 16, 22)(3, 17, 12, 27, 13, 28, 25, 32) (4, 8, 14, 20, 15, 21, 26, 30)(7, 23, 18, 24, 19, 31,29, 11, (1,3, 4, 11)(2, 7,8, 17)(5, 12, 14, 23)(6, 13, 15, 24)(9, 18, 20, 27)(10, 19, 21, 28)(16, 25, 26, 31)(22, 29, 30, 32)]) = C4 : C8
Ns = Group([(1,3,4,11)(2,7,8,17)(5, 12, 14, 23) (6, 13, 15, 24) (9, 18, 20, 27)(10, 19, 21, 28) (16, 25, 26, 31)(22 29,30,32), (1,4)(2,8)(3, 11)(5, 14)(6, 15)(7, 17)(9, 20)(10, 21)(12, 23) (13, 24)(16, 26) (18, 27) (19, 28) (22, 30) (25, 31)(29, 32), (1,2, 5,9, 6, 10, 16, 22)(3, 17, 12, 27,13, 28, 25, 32) (4, 8, 14, 20, 15, 21, 26, 30) (7, 23, 18, 24, 19, 31,29, 11)]) = C4 : C8
Group([(1,13,4,24)(2,19,8,28)(3, 15, 11 6)( 125,14, 31)(7, 21, 17,10)(9, 29, 20, 32)(12, 26, 23, 16)(18, 30, 27, 22), (1, 4)(2, 8)(3, 11)(5, 14)(6, 15)(7, 17)(9, 20)(10, 21)(12, 23)(13, 24) (16, 26)(18, 27)(19, 28)(22, 30)(25, 31)(29, 32), (1, 2, 5,9, 6, 10, 16, 22)(3, 17, 12, 27,13, 28, 25, 32) (4, 8, 14, 20, 15, 21, 26, 30)(7, 23, 18, 24, 19, 31,29, 11)]) = C4 : C8
Nio = Group([(1,12, 15, 31)(2, 18, 21, 32)(3, 14,24, 16)(4, 23, 6, 25)(5. 13, 26, 11)(7, 20, 28. 22)(8, 27, 10, 20)(9, 19, 30, 17), (1, 15)(2, 21)(3, 24)(4, 6)(5, 26) (7, 28) (8, 10)(9, 30) (11, 13) (12, 31) (14, 16)(17, 19)(18, 32) (20, 22) (23, 25) (27, 29), (1, 3, 4, 11)(2, 7, 8, 17)(5, 12, 14, 23)(6, 13, 15, 24)(9, 18, 20, 27)(10, 19, 21, 28)(16, 25, 26, 31)(22, 29, 30, 32)]) = C4 x C4
Niy = Group([(1,5,6,16)(2,9, 10, 22)(3, 12, 13, 25) (4, 14, 15, 26)(7, 18, 19, 29)(8, 20, 21,30)(11, 23, 24, 31)(17, 27, 28, 32). (1. 4)(2, 8)(3, 11)(5, 14)(6, 15)(7, 17)(9, 20) (10, 21) (12, 23) (13, 24) (16, 26) (18, 27) (19, 28) (22, 30) (25, 31)(29, 32). (1, 6)(2, 10) (3, 13)(4, 15)(5, 16)(7, 19)(8, 21)(9, 22) (11, 24) (12, 25) (14, 26) (17, 28) (18, 29) (20, 30) (23, 31) (27, 32), (1,2, 5,9, 6, 10, 16, 22)(3, 17, 12, 27, 13, 28, 25, 32)(4, 8, 14, 20, 15, 21, 26, 30) (7, 23, 18, 24, 19, 31,29, 11), (1, 3,4, 11)(2,7, 8, 17)(5, 12, 14, 23)(6, 13, 15, 24)(9, 18, 20, 27)(10, 19, 21, 28) (16, 25, 26, 31)(22, 29,30, 32)]) = C4 : C8
Nis = Group([(1,3.4, 11)(2,7,8,17)(5, 12, 14, 23)(6, 13, 15, 24)(9, 18, 20, 27)(10, 19, 21, 28)(16, 25, 26, 31) (22, 29, 30, 32). (1,4)(2,8)(3, 11)(5, 14)(6, 15)(7, 17)(9, 20) (10, 21)(12, 23) (13, 24) (16, 26) (18, 27) (19, 28) (22, 30) (25, 31) (29, 32), (1, 6)(2, 10)(3, 13)(4, 15)(5, 16)(7, 19)(8, 21)(9,22)(11 24)(12,25)(14, 26) (17, 28) (18, 29)(20, 30) (23, 31)(27,32), (1,2, 5,9, 6, 10, 16,22)(3, 17, 12, 27, 13, 28, 25, 32) (4, 8, 14, 20, 15, 21, 26, 30)(7, 23, 18, 24, 19, 31,29, 11)]) = C4 : C8
Nis = Group([(1,12,15,31)(2, 18,21, 32)(3, 14, 24, 16) (4, 23,6, 25) (5, 13, 26, 11)(7, 20, 28, 22) (8, 27, 10, 29)(9, 19, 30, 17), (1, 15)(2, 21)(3, 24) (4, 6)(5, 26) (7, 28)(8, 10)(9, 30)(11, 13)(12, 31) (14, 16)(17, 19) (18, 32) (20, 22)(23, 25)(27, 29), (1, 6)(2, 10) (3, 13) (4, 15)(5, 16)(7, 19)(8, )(9,22)(11,2 )(12,25)(14, 26)(17, 28) (18, 29)(20, 30)(23, 31)(27, 32), (1, 2,5,9,6, 10, 16, 22) (3,17, 12,27, 13, 28, 25, 32)(4, 8, 14, 20, 15, 21, 26, 30)(7, 23, 18, 24, 19, 31,29, 11)]) = C4 : C8
Ny = Group([(1,2,5,9,6,10,16,22)(3,17, 12,27, 13, 28, 25, 32) (4, 8, 14,20,15,21,26,30)(7 23,18,24,19,31,29, 1), (1, 5,6, 16)(2, 9, 10,22)(3, 12, 13, 25)(4, 14, 15, 26)(7, 18, 19, 29)(8, 20, 21, 30)(11, 23, 24, 31)(17, 27, 28, 32), (1, 6) (2, 10)(3, 13)(4, 15)(5, 16)(7, 19)(8, 21)(9, 22)(11, 24) (12, 25)(14, 26)(17, 28) (18, 29)(20, 30)(23, 31)(27, 32), (1, 4)(2. 8)(3, 11)(5, 14)(6, 15)(7, 17)(9, 20)(10, 21)(12, 23)(13, 24)(16, 26) (18, 27)(19, 28) (22, 30)(25, 31)(29, 32)]) = C8 x C2
Nis = Group([(1,17, 5,27, 6,28, 16, 32)(2, 23,9, 24, 10, 31, 22, 11)(3, 8, 12, 20, 13, 21, 25, 30)(4, 7, 14, 18, 15, 19, 26, 20). (1, 5,6, 16)(2, 9, 10, 22)(3, 12, 13, 25)(4, 14, 15, 26) (7. 18, 19, 29)(8. 20, 21, 30) (11, 23, 24, 31)(17, 27, 28, 32). (1, 6)(2, 10)(3, 13)(4, 15)(5, 16)(7, 19)(8, 21)(9, 22)(11, 24)(12, 25)(14, 26)(17, 28)(18, 29)(20, 0)(23,31)(27,32), (1,4)(2,8)(3,11)(5, 14)(6, 15)(7, 17)(9, 20)(10, 21)(12, 23)(13,24)(16 26)(18,27)(19, 28)(22, 30)(25, 31)(29, 32)]) = C8 x C2
Nio = Group([(1,3,4, 11)(2,7, 8, 17)(5, 12, 14, 23)(6, 13, 15, 24)(9, 18, 0,27)(10, 19,21, 28)(16, 25, 26, 31)(22, 29, 30.32). (1, 5,6, 16)(2,9, 10, 22)(3. 12, 13, 25)(4, 14, 15, 26)(7, 18, 19, 29)(8, 20, 21,30)(11, 23, 24. 31) (17, 27, 28.32). (1,4)(2, 8)(3, 11)(5, 14)(6, 15)(7, 17)(9, 20) (10, 21)(12, 23) (13, 24) (16, 26) (18, 27) (19, 28) (22, 30) (25.31)(29.32). (1, 6)(2, 10)(3, 13)(4, 15)(5, 16) (7, 19)(8, 21)(9, 22)(11, 24) (12, 25) (14, 26) (17, 28) (18, 29)(20, 30)(23.31)(27.32), (1, 2, 5,9, 6, 10, 16, 22)(3, 17, 12, 27, 13, 28, 25, 32) (4, 8, 14,20, 15, 21, 26, 30)(7, 23, 18, 24, 19, 31,29, 11)]) = C4 : C8
Ni7 = Group([(1,2,5.9, 6, 10, 16,22)(3, 17, 12, 27, 13, 28, 25, 32) (4, 8, 14, 20, 15, 21, 26, 30)(7, 23, 18, 24, 19, 31,29, 11), (1. 5,6, 16)(2, 9, 10,22)(3, 12, 13, 25)(4, 14, 15, 26)(7. 18, 19, 29)(8, 20, 21, 30) (11, 23, 24, 31)(17, 27, 28, 32), (1, 4)(2.8)(3, 11)(5, 14)(6, 15)(7. 17)(9, 20) (10, 21) (12, 23) (13, 24) (16, 26) (18, 27) (19, 28)(22, 30)(25, 31)(29, 32), (1. 6)(2, 10)(3, 13) (4, 15)(5. 16)(7, 19)(8. 21) (9. 22)(11 24)(12,25)(14, 26) (17, 28) (18, 29) (20, 30) (23, 31)(27, 32), (1, 3, 4, 11)(2, 7,8, 17)(5, 12, 14, 23)(6, 13, 15, 24) (9, 18, 20, 27)(10, 19, 21, 28)(16, 25, 26, 31)(22, 29, 30, 32)]) = C4 : C8
Nis = Group([(1,17, 5,27, 6,28, 16,32)(2, 23,9, 24, 10, 31, 22, 11)(3, 8, 12, 20, 13, 21, 25, 30)(4, 7, 14, 18, 15, 19, 26, 29), (1, 5.6, 16)(2, 9. 10, 22)(3, 12, 13, 25)(4, 14, 15, 26) (7, 18, 19, 20)(8, 20, 21, 30)(11, 23, 24, 31)(17, 27, 28, 32). (1, 4)(2, 8)(3, 11)(5, 14)(6, 15)(7, 17)(9, 20)(10, 21) (12, 23)(13, 24)(16, 26) (18, 27)(19, 28) (22, 30)(25, 31)(29, 32), (1, 6)(2, 10)(3. 13)(4, 15)(5, 16)(7, 19)(8, 21)(9. 22) (11, 24)(12, 25) (14, 26) (17, 28)(18, 20)(20, 30)(23, 31)(27, 32), (1,2, 5,9, 6, 10, 16, 22)(3, 17, 12, 27, 13, 28, 25, 32) (4, 8, 14, 20, 15, 21, 26, 30)(7, 23, 18, 24, 10,31,29, 11)]) = C4 : C8
Nio = Group([(1,2,5,9, 6. 10, 16,22)(3, 17, 12, 27, 13, 28, 25, 32) (4, 8, 14, 20, 15, 21, 26, 30)(7, 23. 18, 24, 19. 31,29, 11), (1, 3,4, 11)(2, 7. 8, 17)(5, 12, 14,23)(6, 13, 15, 24)(9, 18, 20, 27)(10, 19, 21, 28) (16, 25, 26, 31)(22, 29, 30, 32). (1. 5,6, 16)(2, 9, 10, 22)(3, 12, 13, 25)(4, 14, 15, 26) (7, 18, 19, 29)(8, 20, 21, 30) (11, 23, 24, 31)(17, 27, 28, 32), (1, 4)(2, 8)(3, 11)(5, 14) (6, 15)(7, 17)(9, 20)(10, 21)(12, 23)(13, 24)(16, 26)(18, 27)(19, 28)(22, 30 (25, 31)(29, 32), (1, 6)(2, 10)(3, 13)(4, 15)(5, 16)(7, 19)(8, 21)(9, 22) (11, 24)(12, 25)(14, 26)(17, 28)(18, 29)(20, 30)(23, 31)(27, 32)]) = C4 : C8



